

CITY of NOVI CITY COUNCIL

Agenda Item F April 18, 2016

SUBJECT: Approval of the final payment to Audia Concrete Construction, Inc. for the 2015 Pathway Gaps and ADA Improvements program in the amount of \$14,420.44, plus interest earned on retainage.

SUBMITTING DEPARTMENT: Department of Public Services, Engineering Division BTC

CH4





EXPENDITURE REQUIRED	\$ 14,420.44
AMOUNT BUDGETED	\$ 226,573.00 – 2015 Sidewalk
	\$ 27,889.00 - ADA Compliance
	\$ 254,462.00 - Total
LINE ITEM NUMBER	204-204.00-974.465 – 2015 Sidewalk
	204-204.00-805.003 - ADA Compliance

BACKGROUND INFORMATION:

The 2015 Pathway Gap Program included the construction of pathways in three locations:

- Segment 89 Construction of 500-feet of 5-foot wide concrete sidewalk along the
 east side of Novi Road between Ten Mile Road and Nick Lidstrom Drive to complete
 the sidewalk connection along Novi Road from Nine Mile to Ten Mile.
- Segment 76 Construction of 450-feet of 6-foot wide concrete sidewalk along the north side of Grand River Avenue to connect the existing pathway east of Seeley Road to the crosswalk west of Seeley Road on Grand River, constructed with the Grand River Avenue Rehabilitation Project in 2013.
- Segment 145 Construction of 475-feet of 5-foot wide concrete sidewalk along the north side of Ten Mile Road west of the CSX Railroad to complete a connection that was intended to be completed in 2012, but was delayed due to complications with the property owner during the easement acquisition process.

A location map has been included for reference.

This project also included the fourth year of the Americans with Disabilities Act (ADA) Compliance Implementation as recommended by the ADA Compliance Transition Plan adopted in March 2011 and funded in the 2014-15 fiscal year CIP. The concentration of this year's ADA program was to update and improve the intersection of Arcadia and Cordoba Drives, within the Walden Woods residential development and largely used due to its close proximity to Park View and Novi Meadows Elementary Schools.

The Engineering Division also added work to the contract for the Field Operations Division which included several areas of concrete road patch work on Arcadia Drive and the

replacement of the Pavilion Shore Park – sidewalk/boardwalk transitions for the Parks, Recreation, and Cultural Services Department.

The construction contract was awarded for this project at the July 13, 2015 City Council meeting to Audia Concrete Construction, Inc., in the amount of \$224,417.00.

Engineering staff worked with the engineering consultant for this project, URS Corporation to review and verify the final contract payment amount of \$14,420.44 that is due the contractor (Final Pay Estimate No. 3, attached). The City Attorney reviewed the documentation and found it to be in an acceptable form (Beth Saarela's March 29, 2016 letter, attached).

There were five (5) approved change orders issued for this project resulting in an overall increase of \$63,991.70 to the construction contract, or 28.5% over the awarded amount. Change Order 1 added \$16,985 of pavement repairs to Arcadia Drive at the request of the Field Operations Division. Change Order 2 added \$18,715 from the Drain Fund for drainage work adjacent to Novi Road. Change Order 3 added \$22,400 from Parks Fund for abutment work at Pavilion Shore Park. Change Order 4 added \$3,689 for additional drainage work on Novi Road. Change Order 5 balanced the units in the contract and resulting in \$2,202 added to the contract. The approved change orders resulted in a final contract price of \$288,408.70.

RECOMMENDED ACTION: Approval of the final payment to Audia Concrete Construction, Inc. for the 2015 Pathway Gaps and ADA Improvements program in the amount of \$14,420.44, plus interest earned on retainage.

	1	2	Υ	N
Mayor Gatt				
Mayor Pro Tem Staudt				
Council Member Burke				
Council Member Casey				

	2	Y	N
Council Member Markham			
Council Member Mutch			
Council Member Wrobel			



2016 PATHWAY GAPS and ADA IMPROVEMENTS



Grand River Avenue and Seeley Drive, looking west



10 Mile Road, west of CSX Railroad tracks, looking east



East-side of Novi Road, just south of 10 Mile, looking south



Intersection of Arcadia and Cordoba Drives, ADA sidewalk ramp improvements



Arcadia Drive – concrete roadway panel replacements (added contract work)



Pavilion Shore Park – East sidewalk/boardwalk transition replacement (added work)



Pavilion Shore Park – West sidewalk/boardwalk transition replacement (added work)



JOHNSON ROSATI SCHULTZ JOPPICH PC

27555 Executive Drive Suite 250 ~ Farmington Hills, Michigan 48331 Phone: 248.489.4100 | Fax: 248.489.1726

Elizabeth Kudla Saarela esaarela@jrsjlaw.com

www.jrsjlaw.com

March 29, 2016

Aaron Staup, Engineering Coordinator CITY OF NOVI Department of Public Services Field Services Complex 26300 Lee BeGole Drive Novi, MI 48375

> Re: 2015 Pathway Gaps – ADA – Audia Concrete Closing Documents

Dear Mr. Staup:

We have received and reviewed closing documents for the 2015 Pathway Gaps - ADA- Project:

- 1. Application for Final Payment
- 2. Contractor's Sworn Statement
- 3. Consent of Surety
- 4. Waivers of Lien
- 5. Maintenance Bond Rider

Subject to approval of the Application for Final Payment by appropriate City staff, the closing documents appear to be in order. The General Contractor must provide its final waiver of lien time it receives final payment.

Please feel free to contact me with any questions or concerns in regard to this matter.

Very truly yours,

Mzabeth Kudla Saarela

JOHNSON, ROSATI, SCHULTZ & JOPPICH, P.C.

Aaron Staup, Construction Engineering Coordinator March 29, 2016 Page 2

EKS

Enclosures

C: N

Maryanne Cornelius, Clerk (w/Enclosures)
Rob Hayes, Public Services Director (w/Enclosures)
Carl Johnson, Finance Director/Chief Financial Officer (w/Enclosures)
Brian Coburn, Engineering Manager (w/Enclosures)
Mark Koskinen, URS Corporation (w/Enclosures)
Thomas R. Schultz, Esquire (w/Enclosures)



Balance Due This Payment = \$ 14,420.44

PURCHASE ORDER NO.

94558

26300 Lee BeGole Dr. Novi, Michigan 48375 Tel: (248) 347-0454 Fax: (248) 735-5659

APPLICATION FOR FINAL PAYMENT

PROJECT:

2015 Pathway Gaps-ADA

NOVI PROJECT NO .:

15-5002

PAYMENT NO.:

FINAL

OWNER:

City of Novi

ENGINEER:

URS Corporation

CONTRACTOR:

Audia Concrete Construction, Inc.

45175 W. Ten Mile Road Novi, Michigan 48375

27777 Franklin Road, Suite 2000 Southfield, Michigan 48034 2985 Childs Lake Road Milford, Michigan 48381 (248) 676-9570

(248) 204-5900 FINAL COMPLETION DATES

DATES OF ESTIMATE

ORIGINAL:

CONTRACT AMOUNT

\$224,417.00

ORIGINAL:

October 1, 2015 November 5, 2015 FROM:

J143.

November 6, 2015

REVISED:

\$288,408.70

REVISED: ACTUAL:

November 5, 2015

TO:

January 25, 2016

SECTION 1.

COST OF COMPLETED WORK TO DATE

P-000	DIVISION 1 - GRAND RIVER/SEELEY CONTRACT ITEMS (Or						COST OF COMPLETED WORK TO DATE													
Item	DIVISION 1 - GRAND RIVER/SEE GL#204-204.00-974-455	LEY	(CONT	RACT ITEMS	(Original)		C	CONT	FRACT ITEMS	(Revised)			THIS PE	RIOD				TOTAL TO DATE	
No.	Description of Item	Unit	Quantity		Cost/Unit	Total Amt		Quantity		Cost/Unit	Total Amt		Quantity	Amou	int	%	Quantity		Amount	%
O	Constr. Inspection "Crew Day"	CD	24.00	\$	640.00	\$ 15,360	0.00	25.50	\$	640.00	\$ 16,32	0.00			A WAY	0.0000000000000000000000000000000000000	25.50	\$	16,320.00	100%
1	Mobilization	LS	1.00	\$	3,500.00	\$ 3,500	00.0	1.00	\$	3,500.00	\$ 3,50	00.00					1.00	\$	3,500.00	100%
2	Maintaining Traffic	LS	1.00	\$	1,500.00	\$ 1,500	00.0	1.00	\$	1,500.00	\$ 1,50	00.00					1.00	\$	1,500.00	100%
3	Pre-Construction Audio-Visual	LS	1.00	\$	900.00	\$ 900	0.00	1.00	\$	900.00	\$ 90	00.00					1.00	\$	900.00	100%
4	Sidewalk, Remove	SY	3.00	\$	30.00	\$ 90	0.00	0.00	\$	30.00	\$	-					0.00			
5	Curb and Gutter, Remove	LF	49.00	\$	25.00	\$ 1,22	5.00	50.00	\$	25.00	\$ 1,25	00.00					50.00	\$	1,250.00	100%
6	Pathway Grading	LF	429.00	\$	10.00	\$ 4,29	00.0	356.00	\$	10.00	\$ 3,56	00,00					356.00	\$	3,560.00	100%
7	Subgrade Undercutting, Type II	CY	10.00	\$	35,00	\$ 350	0.00	0.00	\$	35.00	\$	-					0.00			
8	Silt Fence	LF	430.00	\$	8,00	\$ 3,44	0.00	65.00	\$	8.00	\$ 52	20.00					65.00	\$	520.00	100%
9	Agg. Base, 21AA Limestone, 6"	SY	245.00	\$	9.00	\$ 2,20	5.00	284.70	\$	9.00	\$ 2,56	2.30	1				284.70	\$	2,562.30	100%
10	Sidewalk, Conc, 4-inch	SF	2052.00	\$	7.00	\$ 14,36	1.00	1968.00	\$	7.00	\$ 13,77	6.00					1968.00	\$	13,776.00	100%
11	Sidewalk Ramp, Conc, 6-inch	SF	150.00	\$	9.00	\$ 1,35	00.0	238.00	\$	9.00	\$ 2,14	2.00					238.00	\$	2,142.00	100%
12	Detectable Warning Surface	FT	12.00	\$	180.00	\$ 2,16	00.0	12.00	\$	180.00	\$ 2,16	0.00					12.00	\$	2,160.00	100%
13	Curb and Gutter, Conc, Det B2	LF	27.00	\$	38.00	\$ 1,02	00.6	47.00	\$	38.00	\$ 1,78	6.00					47.00	\$	1,786.00	100%
14	Surface Restoration	LS	1.00	\$	3,000.00	\$ 3,000	0.00	1.00	\$	3,000,00	\$ 3,00	00.00					1.00	\$	3,000.00	100%
								,									<u> </u>	_		,
																		_		
				<u> </u>																
<u> </u>				1														<u> </u>		
																<u> </u>		ļ		
				_														<u> </u>		
		<u> </u>		<u> </u>			_											1_		
<u> </u>				ļ					_									<u> </u>		ļ
L		l							<u> </u>		<u> </u>		L l					<u></u>		



26300 Lee BeGole Dr. Novi, Michigan 48375 Tel: (248) 347-0454 Fax: (248) 735-5659

APPLICATION FOR FINAL PAYMENT

PROJECT:

2015 Pathway Gaps-ADA

NOVI PROJECT NO.:

15-5002

PAYMENT NO .:

FINAL

	SECTION 1.									COST	OF	COMPLETED	WORK TO	DATE					
Item	<u>DIVISION 2 - NOVI ROAD</u> GL#204-204.00-974,465			CONT	RACT ITEMS	(Original)		(соит	TRACT ITEMS	S (Re	vised)		THIS PERIOD				TOTAL TO DATE	
No.	Description of Item	Unit	Quantity		Cost/Unit	Tota	al Amt	Quantity		Cost/Unit		Total Amt	Quantity	Amount	%	Quantity		Amount	%
15	Mobilization	LS	1.00	\$	3,500,00	\$	3,500.00	1.00	\$	3,500.00	\$	3,500.00				1.00	\$	3,500.00	100%
16	Maintaining Traffic	LS_	1.00	\$	1,500.00	\$	1,500.00	1.00	\$	1,500.00	\$	1,500.00				1.00	\$	1,500.00	100%
17	Pre-Construction Audio-Visual	LS	1.00	\$	900.00	\$	900.00	1.00	\$	900.00	\$	900.00				1.00	\$	900.00	100%
18	Sidewalk, Remove	SY	15.00	\$	30.00	\$	450.00	23.90	\$	30.00	\$	717.00				23.90	\$	717.00	100%
19	Pathway Grading	LF	497.00	\$	10.00	\$	4,970.00	504.00	\$	10.00	\$	5,040.00				504.00	\$	5,040.00	100%
20	Subgrade Undercutting, Type II	CY	20.00	\$	35.00	\$	700.00	0.00	\$	35.00						0.00			
21	Silt Fence	LF	500,00	\$	8.00	\$	4,000.00	375.00	\$	8.00	\$	3,000.00				375.00	\$	3,000.00	100%
22	Curb and Gutter Inlet Filter	EA	2,00	\$	150.00	\$	300.00	3.00	\$	150.00	\$	450.00				3.00	\$	450.00	100%
23	Agg. Base, 21AA Limestone, 6"	SY	465,00	\$	9.00	\$	4,185.00	476.20	\$	9.00	\$	4,285,80				476.20	\$	4,285.80	100%
24	Culv End Section, Conc, 12-inch	EΑ	2.00	\$	800.00	\$	1,600.00	1.00	\$	800.00	\$	800.00				1.00	\$	800.00	100%
25	Sewer, CI E, 12-inch, Tr Det A	LF	51.00	\$	100.00	\$	5,100.00	32.00	\$	100.00	\$	3,200.00				32.00	\$	3,200.00	100%
26	Dr. Structure, 24-inch Dia.	EA	2.00	\$	2,900.00	\$	5,800.00	2.00	\$	2,900.00	\$	5,800.00				2.00	\$	5,800.00	100%
27	Dr. Structure Cover, Type J	EA	2.00	\$	700.00	\$	1,400.00	2.00	\$	700.00	\$	1,400.00				2,00	\$	1,400.00	100%
28	Underdrain, Subbase, 6-inch	LF	375.00	\$	18.00	\$	6,750.00	385.00	\$	18.00	\$	6,930.00				385.00	\$	6,930.00	100%
29	HMA Surface, Remove	SY	86.00	\$	16.00	\$	1,376.00	86.00	\$	16.00	\$	1,376.00				86.00	\$	1,376.00	100%
30	Rip Rap, Plain	SY	14.00	\$	40.00	\$	560.00	16.70	\$	40.00	\$	668.00				16.70	\$	668.00	100%
31	Sidewalk, Conc, 4-inch	SF	2540.00	\$	7,00	\$	17,780.00	2520.00	\$	7.00	\$	17,640.00				2520.00	\$	17,640.00	100%
32	Curb and Gutter, Conc. Det B2	LF	375.00	\$	38,00	\$	14,250,00	398.00	\$	38.00	\$	15,124,00				398.00	\$	15,124.00	100%
33	Surface Restoration	LS	1.00	\$	3,000.00	\$	3,000,00	1.00	\$	3,000.00	\$	3,000,00				1,00	\$	3,000.00	100%
				\top					1								 		
				1					 								\vdash		
									\top										
			·	1					1						 				
			<u> </u>	1					+		<u> </u>						_		
				\vdash					1		\vdash		·····				1		
				1					1										
				\top															
			<u> </u>	T					1							1			
				1										l	T		1	-	
				_							T					1		-	
				1					1		1					1	T^{-}		
			 	\top					1					 		T			
			1	1					1				i — —	 	 		1		
***************************************			 	 					1		-		 		-	 	 		
	TOTAL FROM THIS SHEET	-	1		_	\$	78,121.00	L			\$	75,330,80		\$ -	1		<u> </u>	75,330,80	
	TOTAL FROM OTHER SHEET						39,400.00				\$	36,656,30		\$ -			S	36,656,30	
							,				•						•	r	10000
	SUBTOTAL					\$ 1	17,521.00				\$	111,987.10		\$ -			\$	111,987.10	100%



26300 Lee BeGole Dr. Novi, Michigan 48375 Tel: (248) 347-0454 Fax: (248) 735-5659

199,338.00 100%

APPLICATION FOR FINAL PAYMENT

DIECT NO.: 15-5002 PAYMENT NO.: FINAL

PROJECT: 2015 Pathway Gaps-ADA

SUBTOTAL

NOVI PROJECT NO .:

	SECTION 1.					COST	OF COMPLETED	WORK TO	DATE								
ltem	<u>DIVISION 3 ~ TEN MILE ROAD</u> GL#204-204.00-974.465		c	CONT	RACT ITEMS	(Original)		CONT	RACT ITEMS	(Revised)		THIS PERIOD				TOTAL TO DATE	
No.	Description of Item	Unit	Quantity	(Cost/Unit	Total Amt	Quantity		Cost/Unit	Total Amt	Quantity	Amount	%	Quantity		Amount	%
34	Mobilization	LS	1.00	\$	3,500.00	\$ 3,500.0	1.00	\$	3,500.00	\$ 3,500.00				1.00	\$	3,500.00	100%
35	Maintaining Traffic	LS	1.00	\$	1,500.00	\$ 1,500.0	1.00	\$	1,500.00	\$ 1,500.00				1.00	\$	1,500,00	100%
36	Pre-Construction Audio-Visual	LS	1.00	\$	900.00	\$ 900.0	1.00	\$	900,00	\$ 900.00				1.00	\$	900.00	100%
37	Sidewalk, Remove	SY	19.00	\$	30.00	\$ 570.0	20.00	\$	30.00	\$ 600.00				20.00	\$	600.00	100%
38	Curb and Gutter, Remove	LF	18,00	\$	25.00	\$ 450.0	10.00	\$	25.00	\$ 250.00				10.00	\$	250.00	100%
39	Pathway Grading	LF	465.00	\$	10.00	\$ 4,650.0	465.00	\$	10.00	\$ 4,650.00				465.00	\$	4,650.00	100%
40	Subgrade Undercutting, Type II	CY	10.00	\$	35.00	\$ 350.0	0.00	\$	35.00	\$ -				0.00	\$	_	
41	Silt Fence	LF	400.00	\$	8.00	\$ 3,200.0	111.00	\$	8,00	\$ 888.00			:	111.00	\$	00.888	100%
42	Agg. Base, 21AA Limestone, 6"	SY	310.00	\$	9.00	\$ 2,790.0	554.90	\$	9.00	\$ 4,994.10				554.90	\$	4,994.10	100%
43	Culv, End, Rem, Less than 24-inch	EA	1.00	\$	700.00	\$ 700.0	1.00	\$	700.00	\$ 700.00				1.00	\$	700.00	100%
44	Culv, Rem, Less than 24-inch	EA	1.00	\$	800.00	\$ 800.0	1.00	\$	800.00	\$ 800.00				1.00	\$	00.008	100%
45	Sewer, Rem, Less than 24-inch	LF	5.00	\$	80.00	\$ 400.0	36.00	\$	80.00	\$ 2,880.00]	36.00	\$	2,880.00	100%
46	Culv, CI E, 12-inch	LF	66.00	\$	100.00	\$ 6,600.0	116.00	\$	100.00	\$ 11,600.00				116.00	\$	11,600.00	100%
47	Culv End Section, Conc, 12-inch	EA	4.00	\$	800.00	\$ 3,200.0	6.00	\$	800.00	\$ 4,800.00				6.00	\$	4,800.00	100%
48	Culv End Section, Conc, 18-inch	EA	4.00	\$	950.00	\$ 3,800.0	0.00	\$	950.00	\$ -				0.00	\$	-	
49	Sewer, Cl E, 18-inch, Tr Det A	LF	18.00	\$	120.00	\$ 2,160.0	0.00	\$	120.00	\$ <u>-</u>				0.00	\$		
50	Sanitary Str Cover, Adj, Case 1	EA	1.00	\$	700.00	s 700.0	1.00	\$	700.00	\$ 700.00				1.00	\$	700.00	100%
51	Dr Structure, 48-inch Dia.	EA	1.00	\$	3,200.00	\$ 3,200.0	1.00	\$	3,200.00	\$ 3,200.00				1.00	\$	3,200,00	100%
52	Dr Structure Cover, Type B	EA	1.00	\$	700.00	s 700.0	1.00	\$	700.00	\$ 700.00				1.00	\$	700.00	100%
53	HMA Surface, Remove	SY	225.00	s	16.00	\$ 3,600.0	241.80	\$	16.00	\$ 3,868,80	<u> </u>			241.80	\$	3,868.80	100%
54	HMA Approach	TON	69.00	\$	300.00	\$ 20,700.0	69.00	\$	300.00	\$ 20,700.00				69.00	\$	20,700.00	100%
55	Rip Rap, Plain	SY	14.00	\$	40.00	\$ 560.0	14.00	\$	40.00	\$ 560.00				14.00	\$	560.00	100%
_56	Sidewalk, Conc, 4-inch	SF	1855.00	\$	7.00	\$ 12,985.0	1530.00	\$	7.00	\$ 10,710.00				1530.00	\$	10,710.00	100%
57	Sidewalk, Conc, 8-inch	SF	470.00	\$	9.00	\$ 4,230.0	650,00	\$	9.00	\$ 5,850.00				650.00	s	5,850.00	100%
58	Surface Restoration	LS	1.00	\$_	3,000.00	\$ 3,000.0	1.00	\$	3,000.00	\$ 3,000.00	-			1.00	\$	3,000.00	100%
										-							
	TOTAL FROM THIS SHEET					\$ 85,245.0				\$ 87,350.90		\$ -			\$	87,350.90	
	TOTAL FROM OTHER SHEETS					\$ 117,521.0)			\$ 111,987.10		\$ -			\$	111,987.10	

\$ 199,338.00

202,766.00



TOTAL FROM OTHER SHEETS

SUBTOTAL

CITY OF NOVI

26300 Lee BeGole Dr. Novi, Michigan 48375 Tel: (248) 347-0454 Fax: (248) 735-5659

> 199,338.00 220,417.70 100%

	N FOR FII	

PROJECT: 2015 Pathway Gaps-ADA NOVI PROJECT NO.: 15-5002 PAYMENT NO.: FINAL

202,766.00

\$ 224,417.00

	SECTION 1.					cost	OF COMPLETE	WORK TO	DATE								
item	DIVISION 4 - ADA COMPLIANCE PRO GL#204-204.00-805.003	OGRAM		CONT	RACT ITEMS	(Origin	al)	I	CONT	TRACT ITEMS	(Revised)		THIS PERIOD			TOTAL TO DATE	
No.	Description of Item	Unit	Quantity		Cost/Unit		Total Amt	Quantity		Cost/Unit	Total Amt	Quantity	Amount	%	Quantity	Amount	%
59	Mobilization	LS	1,00	\$	2,700.00	\$	2,700,00	1.00	\$	2,700.00	\$ 2,700.00				1.00	\$ 2,700.00	100%
60	Maintaining Traffic	LS	1.00	\$	1,000.00	\$	1,000.00	1.00	\$	1,000.00	\$ 1,000.00				1.00	\$ 1,000.00	100%
61	Pre-Construction Audio-Visual	LS	1.00	\$	900.00	\$	900.00	1.00	\$	900.00	\$ 900.00				1.00	\$ 900.00	100%
62	Sidewalk, Remove	SY	28.00	\$	30.00	\$	840.00	39.50	\$	30.00	\$ 1,185.00				39.50	\$ 1,185,00	100%
63	Curb and Gutter, Remove	LF	33.00	\$	25.00	\$	825.00	37.00	\$	25.00	\$ 925.00				37.00	\$ 925.00	100%
64	Pathway Grading	ĻF	50.00	\$	10.00	\$	500.00	94.00	\$	10.00	\$ 940.00				94.00	\$ 940.00	100%
65	Curb and Gutter Inlet Filter	EA	3.00	\$	150.00	\$	450,00	0.00	\$	150.00	\$ -				0,00	\$	
66	Agg Base, 21AA Limestone, 6"	SY	35.00										55.30	\$ 497.70	100%		
67	Dr Structure Cover, Adj, Case 1	EA	1.00	\$	700.00	\$	700.00	0.00	\$	700.00	\$ -				0.00	\$	
68	Reconstruct Drainage Structure	FT	4.00	\$	250.00	\$	1,000.00	0.00	\$	250.00	\$ -				0.00	\$	
69	Point Up Drainage Structure	EA	1.00	\$	850,00	\$	850.00	0.00	\$	850.00	\$ -				0.00	\$ -	
70	Sidewalk, Conc, 4-inch	SF	114.00	\$	7,00	\$	798.00	280.00	S	7.00	\$ 1,960.00				280.00	\$ 1,960.00	100%
71	Sidewalk Ramp, Conc, 6-inch	SF	187.00	\$	9.00	\$	1,683,00	168.00	\$	9.00	\$ 1,512.00				168.00	\$ 1,512.00	100%
72	Detectable Warning Surface	FT	18.00	\$	180.00	\$	3,240.00	15,00	\$	180.00	\$ 2,700.00				15.00	\$ 2,700.00	100%
73	Mountable Curb and Gutter	LF	10.00	\$	35.00	\$	350.00	36.00	\$	35.00	\$ 1,260.00				36.00	\$ 1,260,00	100%
74	Pavement Markings	LS	1.00	\$	3,500.00	\$	3,500.00	1.00	\$	3,500.00	\$ 3,500.00				1.00	\$ 3,500.00	100%
75	Surface Restoration	LS	1.00	\$	2,000.00	\$	2,000.00	1.00	\$	2,000.00	\$ 2,000.00				1.00	\$ 2,000.00	100%
									_					<u></u>			
									_								
				<u></u>													
									_								
			ļ						_						<u> </u>		
				_					<u> </u>								
						L							<u> </u>		1		<u> </u>
	TOTAL FROM THIS SHEET					\$	21,651.00				\$ 21,079.70		\$ -			\$ 21,079.70	

199,338.00

220,417.70



26300 Lee BeGole Dr. Novi, Michigan 48375 Tel: (248) 347-0454 Fax: (248) 735-5659

288,408.70 100%

APPLICATION FOR FINAL PAYMENT

PROJECT:

2015 Pathway Gaps-ADA

GRAND TOTAL

NOVI PROJECT NO.:

15-5002

PAYMENT NO .:

FINAL

NEW CONTRACT ITEMS

	SECTION 1.						COST	OF COMPLETED	WORK TO	DATE					
Item						NEW	CONTRACT	ITEMS		THIS PERIOD			T	OTAL TO DATE	
No.	Description of Item	Unit	Division	GL#	Quantity	Co	ost/Unit	Total Amt	Quantity	Amount	%	Quantity		Amount	%
76	Lane Ties	EA	5	0	90.00	\$	4.00	\$ 360.00				90,00	\$	360.00	100%
77	Arcadia Joint Sealing and Mob	LS	5	0	1.00	\$	2,500.00	\$ 2,500.00				1,00	\$	2,500.00	100%
78	Sidewalk, Conc, 8-inch	SF	5	On the second	1123.00	\$	9.00	\$ 10,107.00				1123.00	\$	10,107.00	100%
79	Sidewalk, Remove	SY	5	0	124.80	\$	30.00	\$ 3,744.00				124.80	\$	3,744.00	100%
80	Culv, 12-inch CMP	LF	2	0 1991	0.00	\$	13.00	\$ -				0.00	\$		
81	Culv 18-inch CMP	LF	2	0	60.00	\$	80.00	\$ 4,800.00				60,00	\$	4,800.00	100%
82	Dr. Structure Cover, Type B	EA	2	O services	2.00	\$	700.00	\$ 1,400.00				2.00	\$	1,400.00	100%
83	Dr. Structure 18 inch Diam	EA	2	0	2.00	\$	3,200.00	\$ 6,400.00				2.00	\$	6,400.00	100%
84	Culv End Seciont, CMP, 12-inch	EA	2	0 M	1.00	\$	320.00	\$ 320.00				1.00	\$	320.00	100%
85	Culv, End, Rem, Less than 24 inch	EA	2	0 10 20	3.00	\$	700.00	\$ 2,100.00				3,00	\$	2,100.00	100%
86	Curb and Gutter, Remove	LF	3 ***	0	21.00	\$	25.00	\$ 525.00				21.00	\$	525.00	100%
87	Reconstruct Drainage Structure	FT	3	0	3.00	\$	250.00	\$ 750.00				3.00	\$	750.00	100%
88	Drainage Structure, Adj, Case 1	EA	3	0	1.00	\$	700.00	\$ 700.00				1.00	\$	700.00	100%
89	Curb and Gutter, Conc, Det B2	FT	3	ration with the control of the contr	10.00	\$	38.00	\$ 380.00				10,00	\$	380.00	100%
90	Sidewalk Ramp, 6-inch	SF	3	0 (19)	110.00	\$	9.00	\$ 990.00				110.00	\$	990.00	100%
91	Sewer, Tap, 18-inch	EA	3	0,	1.00	\$	300.00	\$ 300.00				1.00	\$	300.00	100%
92	Point Up Drainage Structure	EA	3	0	1.00	\$	850.00	\$ 850.00				1,00	\$	850,00	100%
93	Drainage Structure, Adj, Case 1	EA	3	0	0.00	\$	700.00	\$ -				0.00	\$		
94	Culv End Section, CMP, 18-inch	EA	2	0 200	1.00	\$	365.00	\$ 365.00				1,00	\$	365.00	100%
95	East Boardwalk (Pavilion Shore)	LS	- 6	208-691.00-977.088	1.00	\$ 1	11,200.00	\$ 11,200.00				1.00	\$	11,200.00	100%
96	West Boardwalk (Pavilion Shore)	LS	- 6	208-691.00-977.089	1.00	\$ 1	11,200.00	\$ 11,200.00				1.00	\$	11,200.00	100%
97	Culv, 12-inch CMP	LF	0	An area distriction of the Original States	40.00	\$	73.00	\$ 2,920.00				40.00	\$	2,920.00	100%
98	Culv, 18-inch CMP	LF	0.0	0.109/03/2007	36.00	\$	80.00	\$ 2,880.00				36.00	\$	2,880.00	100%
99	Slope Restoration/Add, Fill ADJ	LS	0	0	1.00	\$	2,300.00	\$ 2,300.00				1.00	\$	2,300.00	100%
100	Repair Washout	LS	-0	0	1,00	\$	900.00	\$ 900.00				1,00	\$	900.00	100%
101			0	Office and the Control of the Contro	0.00	\$	-	\$ -				0.00	\$	-	
102			0	0 0	0.00	-\$	-	\$ -				0.00	\$	-	
103			0	On might the jet.	0.00	\$		\$ -	<u> </u>	<u> </u>	<u> </u>	0.00	\$		
	TOTAL FROM THIS SHEET							\$ 67,991.00		\$ -			\$	67,991.00	
	TOTAL FROM OTHER SHEETS			\$ 224,417.00				\$ 220,417.70		\$ -			\$	220,417.70	

288,408.70

224,417.00



PURCHASE ORDER NO. 94558 26300 Lee BeGole Dr. Novi, Michigan 48375 Tel: (248) 347-0454 Fax: (248) 735-5659

Section 2.				~ _			
 Open State (State State State		APPLICATION F	OR FIN	AL PAYMENT		The state of the s	
PROJECT: 2015 Pathway Gaps-ADA	NOVI PROJ	nercentural del contrato de la constante del montre del contrato del contrato del contrato del contrato del co	izacione de la constanta		PAYN	IENT NO.:	FINAL
Original Contract Amount:	\$	224,417.00		CHANGE O	RDERS		
Change Orders:	\$	63,991.70	<u>No.</u> 1	<u>Date</u> August 24, 2015	\$	<u>Amount</u> 16,985.00	
Adjusted Contract Amount to Date:	\$	288,408.70	2	September 4, 2015 October 6, 2015	\$ \$	18,715.30 22,400.00	
Total Cost of Work Performed to Date:	\$	288,408.70	4 5	November 9, 2015 December 1, 2015	\$ \$	3,689.40 2,202.00	
MINUS Retainage: MINUS Inspection "Crew Days": To Date This Pay	0% \$ 25.50 \$ 0.00	- -	·	2000111201 1, 2010	\$ \$	-	
Net Amt. Earned of Contract and Extra Work to Date:	\$	288,408.70			\$ \$	- -	
MINUS L.D.'s: # of days over = \$ amount/day = \$600	\$	-			\$ \$	-	
Subtotal:	\$	288,408.70			\$	-	
ADD Incentive "Crew Days", if under:	\$	-		тот	AL: \$	63,991.70	
Subtotal:	\$	288,408.70					
MINUS Amount of Previous Payments: 1 \$ 240,018.36 2 \$ 33,969.90	\$	273,988.26					
3 \$ -				Inspection "Crew Days" Al			
4 \$ - 5 \$ -				Additional "Crew Days" pe Total Inspection "Crew Da		ers: 1.50 25.50	
5 \$ - 6 \$ -				Inspection "Crew Days" Us		25.50	
7 \$ -				Inspection "Crew Days" Re		0.00	
8 \$, , , , , , , , , , , , , , , , , , , ,	•
9 \$ -							
10 \$ -	Market Greenweet and a meaning						•
BALANCE DUE THIS PAYMENT:	\$	14,420.44					



Bection 3.

CITY OF NOVI

26300 Leo BoGolo Dr. Kovi, Alichigan 48 276 Tol: (248) 347-0454 Fax: (248) 736-5659

APPLICATION FOR FINAL PAYMENT PAYMENT NO. MAL PROJECT 2015 Petway Gaps-ADA NOVI PROJECT NO Peymont of the assess Assount Due THIS REPUGATION is recommended. The ambrenigned CONTRACTOR certifies life. (1) Any previous progress payments received from OWNER on emount of Work done under the Contract referred to above here been applied to discharge in Asia di obligations of CONTRACTOR is curred in connection with Work covered by prior Applications for Payment, (2) list to as Wise, materials, and equipment incorporated in sale Wird of otherwise Ested in or covered by this Application for Payment will pass to CWNER et time of payment less and accorded to the Application of a State of all States, claims, security inferred, and enumberences (except such as an occarred by Broid scooplable to OWNER indemnifying OWNER against any such left, dain security interest discrembersone); and (3) all works covered by this Application for Payment in a recordance with the Celtract Documents and sot defective as that term is defined in the Contract Documents. CITY OF NOVI £y. Aston J. Staup, Construct los Enginegring Coordinator 3-14-16 Dated Audia Concreta Construction, Inc. Contractor Company Brin Caburn, PE., Engkressing Benlor Merages £y: 3-28-16 Dewd. All Full Unconditional Wishors of ten have been received from each a boontractor and/or supplier, reviewed and approved by the Consultent Also, stacked to this Final Payment is a dopy of the Contractor's Swom Statement, Consent of Surery, and a new Melintenance and Gustantes Bend (filts semicont is greater than the final confract price) or a Maintenance Bond Ristor towarding the difference between the final confract price and the awarded amount.

CONSENT OF SURETY COMPANY TO FINAL PAYMENT MAIX XXXVIII SERVED Owner
Atchnert
Contractor
Surery
Other

Bond No 106323740

PROJECT: 2015 Pathway Gap Program & 2015 ADA Compliance Program

TO: amost

ARCHITECT'S PROJECT NO:

City of Novi

45175 West Ten Mile Road

CONTRACT FOR:

Novi, MI 48375

CONTRACT DATE:

CONTRACTOR:

Audia Concrete Construction, Inc. PO Box 72 Milford, MI 48381

In accordance with the provisions of the Contract between the Owner and the Contractor as indicated above, the

Travelers Casualty and Surety Company

1441 W Long Lake Rd, Suite 300

Troy, MI 48098

SURETY COMPANY

(toppened Hereschie here when now with 10 letod no

Audia Concrete Construction, Inc.

PO Box 72

Milford, MI 48381

CONTRACTOR,

hereby approves of the final payment to the Contractor, and agrees that final payment to the Contractor shall not relieve the Surely Company of any of its obligations to these meanure and address of Owner).

City of Novi

45175 West Ten Mile Road

OWNER.

Novi, MI 48375

as set forth in the said Surety Company's bond.

IN WITNESS WHEREOF.

the Surety Company has bereinto set its hand this

27th

day of January, 2016

Surely Company

Travelers Casualty and Surety Company of America

Superior of Kelbarted Representance

HILSE G

Susan L Small, Attorney-in-Fact

Lile

AM DECEMBER GOTE ONSENT OF SHRITY COMBANY TO THAT PAYMENT OF APRIL 1979 FOR HON-ALL)

0.84

WARNING: THIS POWER OF ATTORNEY IS INVALID WITHOUT THE RED EXHIDER



POWER OF ATTORNEY

Farmington Casualty Company Fidelity and Guaranty Insurance Company Fidelity and Guaranty Insurance Underwriters, Inc. St. Paul Fire and Marine Insurance Company St. Paul Guardian Insurance Company St. Paul Mercury Insurance Company Travelers Casualty and Surety Company Travelers Casualty and Surety Company of America United States Fidelity and Guaranty Company

Attorney-In Pact No.

227885

Certificate No. 006472899

KNOW ALL, MEN BY THESE PRESENTS: That Farmington Casualty Company, St. Paul bire and Marine Insurance Company, St. Paul Guardian Insurance Company, St. Paul Mercury Insurance Company, Travelers Casualty and Surety Company, Travelers Casualty and Surety Company of America, and United States Fitelity and Guaranty Company are corporations duly organized under the laws of the State of Connecticut, that Fidelity and Guaranty Insurance Company is a corporation duly organized under the laws of the State of Wisconsin (herein collectively called the "Companies"), and that the Companies do hereby make, constitute and appoint

John L. Rudde, Steven K. Brandon, Susan L. Small, T. J. Griffin, Terence J. Griffin, Terri L. Young, William A. Pirret, and Patrick E. Williams

	67							
of the City of	Paramagio	n Huis	State	of Mi	chigan		heir true and lawfi	ul Attorney(s - 10-1 iict, onal undertakings and
other writings obli	igatory in the n		alf of the Compa	, execute, scar and nies in their busin	acknowledge any ass of guaranteeir	and all bonds, reco	ersons, guaranteen	oual undertakings and ng the performance of
IN WITNESS WA	HEREOF, the C	Companies have cause 2015	sed this instrumen	nt to be signed and	their corporate se	als to be hereto aft	ixed, this	5th
		Farmington Casu	alty Contoany		St.	Paul Mercury Ins	urance Company	
		Fidelity and Guar Fidelity and Guar St. Paul Fire and St. Paul Guardian	anty Insurance (anty Insurance (Marine Insuranc	Underwriters, Inc e Company	Tra Tra	velers Casualty a velers Casualty a:	nd Surety Compa nd Surety Compa y and Guaranty C	ny ny of America
19820	1977	F HOSPING TO STATE OF THE STATE	To and to	SEAL S	SHAL S	HUNTORD, B	Water Cont.	SULVAND CONTROL TO THE SECOND CONTROL TO THE
State of Connectic City of Hartford se					Ву	Nobert L. Rance	y, Senior Vice Preside	ent
be the Senior Vice Fire and Marme In Casualty and Suret	President of Fat surance Compa y Company of	mington Casualty Co ny, St. Paul Guardia:	impany, Fidelity i Insurance Comp States Fidelity at	and Guaranty Insubany, St. Paul Merc and Guaranty Comp	rance Company, F sury Insurance Co sany, and that he,	idelity and Guaras mpassy, Travelers (as such, being aut	ity Insurance Unde Casualty and Suret	nowledged himself to rwriters, Inc., St. Paul y Company, Travelers xecuted the foregoing
In Witness Where My Commission o		et my hand and offic day of June, 2416.	(4) ·	TETAS DIVAN DIVAN DIVAN	-	1 Jan	is C. J.	theoult ary Public

58440-8-12 Printed in U.S.A.

WARNING THIS POWER OF ATTORNEY IS INVALID WITHOUT THE RED BORDER

This Power of Attorney is granted under road by the authority of the following resolutions adopted by the Boards of Directors of Farmington Cosmity Computy, Fidelity and Guaranty Insurance Underwiders, Inc., St. Paul Fire and Marine Insurance Company, St. Paul Guaranty Insurance Company, St. Paul Mercury Insurance Company, Travelers Castalty and Surety Company of America, and United States Fidelity and Guaranty Company, which resolutions are now in Intil force and effect, reading as follows:

RESOLATED, that the Chairman, the President, any Vice Chairman, any I executive Vice President, any Senior Vice President, any Vice President, any Second Mace President, the Treasurer, any Assistant Treasurer, the Corporate Secretary or any Assistant Secretary may appoint Attorneys in Fact and Agents to not for and on behalf of the Company and may give such appointed such authority as his or her centificate of authority may prescribe to sign with the Company's name and seal with the Company's seal bonds, recognizances, contracts of indemnity, and other writings obligatory in the nature of a bond, recognizance, or conditional undertaking, and new of seal officers or the Board of Directors at any time may remove any such appointed and revoke the power given him or her, and it is

FURTHER RESOLVED, that the Chairman, the President, any Vice Chairman, any Executive Vice President, may Senior Vice President or any Vice President may delegate all or any past of the foregoing authority to one or more officers or employees of the Company, provided that each such delegation is in writing and a copy thereoff is filed in the office of the Secretary; and it is

FURTHER RESOLVED, that any bond, recognizance, contract of indemnity, or writing obligatory in the mature of a bond, recognizance, or conditional undertaking shall be valid and binding upon the Company when (a) signed by the President, any Vice Chairman, any Executive Vice President, any Second Vice President, the Treasurer, any Assistant Treasurer, the Company's seaf by a Secretary on Assistant Secretary; or (b) thely executed (under seak, if required) by one or more Attorneys at Fact and Agents pursuant to the power prescribed in his or her certificate or their certificates of authority or by one or wore Company officers pursuant to a written delegation of authority; and it is

FURTHER RESOLVED, that the signature of each of the following officers: President, my Executive Vice President, my Senior Vice President, any Secretary, and Assistant Vice President, my Executive Vice President, my Secretary, and Assistant Secretary, and the seal of the Company may be affixed by farsimile to any Power of Attorney or to any certificate relating thereto appointing Resident Vice Presidents, Resident Assistant Secretaries or Attorneys in-East for purposes only of executing and attesting bonds and undertakings and other writings obligatory in the nature thereof, and any such Power of Attorney or certificate bearing such facsimile signature or facsimile seal shall be valid and binding upon the Company and any such power so executed and certified by such facsimile signature and facsimile seal shall be valid and binding on the Company in the future with respect to any bond or understanding to which it is attached.

I, Kevin E, Hughes, the undersigned, Assistant Secretary, of Farmington Casualty Company, Fidelity and Guaranty Insurance Company, Fidelity and Guaranty Insurance Company, Fidelity and Guaranty Insurance Company, Travelers Casualty and Surety Company, Travelers Casualty and Surety Company, Travelers Casualty and Surety Company of America, and United States Fidelity and Guaranty Company do hereby certify that the above and foregoing is a true and correct copy of the Power of Attoricy executed by said Companies, which is in full force and effect and has not been revoked.

IN TESTIMONY WHEREOF, I have hereurto set my hand and affixed the seals of said Companies this ZZ day of

ay of Seening

__.20/6.

Kevin E. Hughes, Assistant Secretary



















To verify the authenticity of this Power of Attorney, call 1/800-421-3880 or contact us at www.travelershond.com. Please refer to the Attorney-in-Fact monitor, the above-manest individuals and the details of the found to which the power is attached.

RIDER

TO BE ATTACHED TO AND FORM PART OF

BOND NO. 106323740

IN FAVOR OF City of Novi

ON BEHALF OF Audia Concrete Construction, Inc.

EFFECTIVE

IT IS AGREED THAT, in consideration of the original premium charged for this bond, and any additional premium that may be properly chargeable as a result of this rider.

THE SURETY, Travelers Casualty and Surety Company of America

hereby gives its consent to:

Revise bond amounts to \$288,408.70 from \$224,417.00

EFFECTIVE: 1/27/2016

PROVIDED, however that the attached bond shall be subject to all its agreements, limitations, and conditions except as herein expressly modified and that the liability of the Surety under the attached bond and under the attached bond as changes by this rider shall not be cumulative.

SIGNED, AND SEALED 1/27/2016

Travelers Casualty and Surety Company of America

Susan L Small Attorney-in-Pact

WARNING: THIS POWER OF ATTORNEY IS INVALID WITHOUT THE RED BORDER

TRAVELERS

POWER OF ATTORNEY

Farmington Casualty Company Fidelity and Guaranty Insurance Company Fidelity and Guaranty Insurance Underweiters, Inc. St. Paul Fire and Marine Insurance Company St. Paul Guardian Insurance Company St. Paul Mercury Insurance Company Travelers Casualty and Surety Company Travelers Casualty and Surety Company of America United States Fidelity and Guaranty Company

Marie C. Tetreault, Notary Public

Attorney-In Fact No.

227885

Certificate No. 006472900

KNOW ALL MEN BY THESE PRESENTS: That Farmington Casualty Company, St. Paul Fire and Marine Insurance Company, St. Paul Guardian Insurance Company, St. Paul Guardian Insurance Company, St. Paul Mercury Insurance Company, Travelers Casualty and Surety Company of America, and United States Edelity and Guaranty Company are corporations duly organized under the laws of the State of Connecticut, that Edelity and Guaranty Insurance Company is a corporation duly organized under the laws of the State of Wisconsin (herein collectively called the "Companies"), and that the Companies do hereby make, constitute and appoint

John L. Budde, Steven K, Brandon, Susan L. Small, T. J. Griffin, Terence J. Griffin, Terri L. Young, William A. Pirret, and Patrick E. Williams

of the City of	Farmington	Hills	- State i	of Mi	chigan	. (hear true and lawf	ul Attornev(s)-in-Fact.
								ul Attorney(s)-in-Fact, ional undertakings and
other writings obliga- contracts and execut								ng the performance of
congracts and execus	ing or guarante	eing ounds and und	iemakings require	a or betmuce in a	ny actions or proce	ceatags attowed o	y iaw	
IN WITNESS WHI	EREOF, the C	ompanies have caus 2015	ted this instrumen	t to be signed and	their corporate sea	ils to be hereto aff	ised, this	5th
Only on	- Automobilities - Marchines	the second continues of						
		Farmington Cusus					urance Company	
		Fidelity and Guar Fidelity and Guar	,				nd Surety Compa nd Surety Compa	
		St. Paul Fire and		•			and Guaranty C	
		St. Paul Guardian	Insurance Comp	pany				
1982	1977	recording 1951		SCAL S	SKAL S	WARTPORO, CONN.	Hummond &	TO THE STATE OF TH
State of Connecticut					Ву;	Sterk	TI)	
City of Hartford ss.						Robert L. Ranc	y, Senior Vice Presid	ent
On this the 5th	.t.	iy ofAugust		2015 bef	ora nia naecznalki	anna trad Dohest	1 Panovauho ade	nowledged himself to
	esident of Farr	nington Casualty Co	ompany, Fidelity	and Guaranty Insu	rance Company, Fi	delity and Guaran	ty Insurance Unde	rwriters, Inc., St. Paul
								y Company, Travelers xecuted the foregoing
instrument for the pu							nonzea so to ao, e	xecuted the foregoing
·	•		•					
in Witness Wherens	Thereunto ca	t mich and and office	ial coal (\$6	SATE SATE		Man	is c. J	itreoult

58440-8-12 Printed in U.S.A.

My Commission expires the 30th day of June, 2016.

WARNING THIS POWER OF ATTORNEY IS INVALID WITHOUT THE RED BORDER

This Power of Attorney is granted under and by the authority of the following resolutions adopted by the Boards of Directors of Farmington Casualty Company, Fidebity and Characty Insurance Company, Edebity and Guaranty Insurance Understates, Inc., St. Paul Fre and Marine Insurance Company, St. Paul Guardan Insurance Company, Travelers Casualty and Streety Company, Towelers Casualty and Surety Company of America, and United States Fidebity and Guaranty Company, which resolutions are now in 60B force and effect, reading as follows:

RESOLVED, that the Chairman, the President, any Vice Chairman, any Executive Vice President, any Senior Vice President, any Vice President, any Second Vice President, any Vice President, any Vice President, any Second Vice President, any Vice President, any Second Vice President, the Treasurer, any Assistant Secretary or any Assistant Secretary on any appoint Attorneys in Piet and Apents to act for and on helialf of the Company's each appointed such authority as his or her certificate of authority may present to sign with the Company's name and seal with the Company's real bonds, recognizances, contracts of indemnity, and other writings of ligatory is the nature of a bond, recognizance, or conditional undertaking, and any of said officers or the Hoard of Directors at any time may remove any such appointed and revoke the power given him or her; and it is

FURTHER RESOLVED, that the Chairman, the President, any Vice President, any Executive Vice President any Senior Vice President or any Vice President may delegate all or any part of the foregoing authority to one or more officers or employees of this Company, provided that each such delegation is in writing and a copy thereof is filed in the office of the Secretary; and it is

FURTHER RESOLVED, that any bond, recognizance, contract of indemnity, or writing obligatory in the nature of a bond, recognizance, or conditional undertaking shall be valid and binding upon the Company when (a) signed by the President, any Vice Chairman, any Executive Vice President, any Second Vice President, the Treasurer, any Assistant Treasurer, the Corporate Secretary or any Assistant Secretary and drily attested and sealed with the Company's sent by a Secretary or Assistant Secretary; or (b) duty executed (under sent, if required) by one or more Attorneys-in-Fact and A gents pursuant to the power prescribed in his or her certificate or their certificates of authority or by one or more Company officers pursuant to a written delegation of authority; and it is

FURTHER RESOLVED, that the signature of each of the following officers: President, my Executive Vice President, any Senior Vice President, any Vice President, any Assistant Vice President, any Assistant Secretary, and the seal of the Company may be affixed by Jacsimile to any Power of Atomey or to any certificate relating thereto appointing Resident Vice Presidents, Resident Assistant Secretaries or Attorneys-in-Fact for purposes only of executing and attesting bonds and undertakings and other writings obligatory in the nature thereof, and any such Power of Attorney or certificate hearing such facsimile signature or facsimile seal shall be valid and binding upon the Company and any such power so executed and certified by such facsimile signature and facsimile seal shall be valid and binding on the Company in the future with respect to any bond or understanding to which it is attached.

1, Kevin P. Hughes, the undersigned Assistant Secretary, of Farmington Casualty Company, Fidelity and Guaranty Insurance Company, Fidelity and Guaranty Insurance Company, Fidelity and Guaranty Insurance Company, St. Paul Mercury Insurance Company, Travelers Casualty and Surety Company, Travelers Casualty and Surety Company, Travelers Casualty and Surety Company of America, and United States Fidelity and Guaranty Company do hereby certify that the above and foregoing is a time and correct copy of the Power of Attorney executed by said Companies, which is in full force and effect and has not been revoked.

IN TESTIMONY WHEREOF, I have hereinto set my hand and affixed the seals of said Companies this

Steereday

nen

Kevin B. Hughes, Assistant Secretary



















To verify the authenticity of this Power of Attorney, call 1 800 421 3880 or contact us at www.travelersbond.com. Please refer to the Attorney-In-Fact number, the above-named individuals and the details of the bond to which the power is attached.

SWORN STATEMENT

State of Michigan	n e
County of Oakland	}
Ronetta Audia	, being duly sworn, states the following:
Audia Concrete (Construction, Inc.
is the (contractor)(sub	contractor) for an improvement to the following real property in Oakland County, Michigan,
described as follows:	City of Nevi 2015 Pathway Can Project and 2015 ADA Compliance Program, Joh No. 1204/644
##\$# \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	
	is a statement of each subcontractor, supplier and laborer, for whom payment of wages or fringengs is due but unpaid, with whom the (contractor)(subcontractor) has (contracted)(subcontracted)
	ngs is due but unpaid, with whom the (contractor)/association) has (contracted)/associations are in the contract with the covered release and the amounts due to the narrows so of the date of this

for performance under the contract with the owner or lessee, and the amounts due to the persons as of the date of this statement are correctly and fully set forth opposite their names:

				· · · · · · · · · · · · · · · · · · ·				
	Name Address and Phone Number of Subcontractor, Supplier or Laborer	Type of Improvement Furnished	Total Contract Price	Amount Already Paid	Amount Currently Owing	Balance to complete (optional)	Amount of Laborer Wages Due but unpaid	Amount of Laborer Fringe Benefits and Withholdings Due But Unpaid
/		Ready	21,733.18	21,733.18	Ø			
/	PK Contracting	Pavement Marking	2,888.00	2,888.UD	Ø			
/	Stoneco	2144	16,052.73	6,05273	B			
_	All TRADT	Concrete	\$5,400	\$5,400	B			
	Audia 1	Contract World		\$93,054	Ø			
			155,127.9	:				
	Totals		A:00==	0.00	0.00	0.00	0.00	0.00

(Some columns may not be applicable to all persons listed)

WARNING TO OWNER OR LESSEE: AN OWNER OR LESSEE OF THE PROPERTY MAY NOT RELY ON THE SWORN STATEMENT TO AVOID THE CLAIM OF A SUBCONTRACTOR, SUPPLIER OR LABORER WHO HE PROVIDED A NOTICE OF FURNISHING OR A LABORER WHO MAY PROVIDE A NOTICE OF FURNISHING UND SECTION 109 OF THE CONSTRUCTION LIEN ACT, 1980 PA 497, MCL 570.1109 TO THE DESIGNEE OR TO TO OWNER OR LESSEE IF THE DESIGNEE IS NOT NAMED OR HAS DIED. IF THIS SWORN STATEMENT IS IN REGARD TO A RESIDENTIAL STRUCTURE, ON RECEIPT OF THIS SWO STATEMENT, THE OWNER OR LESSEE, OR THE OWNER'S OR LESSEE'S DESIGNEE MUST GIVE NOTICE OF RECEIPT, EITHER IN WRITING, OR BY TELEPHONE, OR PERSONALLY, TO EACH SUBCONTRACTOR SUPPLIER, AND LABORER WHO HAS PROVIDED A NOTICE OF FURNISHING UNDER SECTION 109 OR, IF NOTICE OF FURNISHING IS EXCUSED UNDER SECTION 108 OR 108A, TO EACH SUBCONTRACTOR, SUPPLIE AND LABORER NAMED IN THE SWORN STATEMENT. IF A SUBCONTRACTOR, SUPPLIER WHO HAS PROVID A NOTICE OF FURNISHING OR WHO IS NAMED IN THE SWORN STATEMENT MAKES A REQUEST, THE OWNE LESSEE, OR DESIGNEE WHALL PROVIDE THE REQUESTER A COPY OF THE SWORN STATEMENT WITHIN BUSINESS DAYS AFTER RECEIVING THE REQUEST.
STATEMENT, THE OWNER OR LESSEE, OR THE OWNER'S OR LESSEE'S DESIGNEE MUST GIVE NOTICE OF I RECEIPT, EITHER IN WRITING, OR BY TELEPHONE, OR PERSONALLY, TO EACH SUBCONTRACTO SUPPLIER, AND LABORER WHO HAS PROVIDED A NOTICE OF FURNISHING UNDER SECTION 109 OR, IF NOTICE OF FURNISHING IS EXCUSED UNDER SECTION 108 OR 108A, TO EACH SUBCONTRACTOR, SUPPLIE AND LABORER NAMED IN THE SWORN STATEMENT. IF A SUBCONTRACTOR, SUPPLIER WHO HAS PROVID A NOTICE OF FURNISHING OR WHO IS NAMED IN THE SWORN STATEMENT MAKES A REQUEST, THE OWNE LESSEE, OR DESIGNEE WHALL PROVIDE THE REQUESTER A COPY OF THE SWORN STATEMENT WITHIN BUSINESS DAYS AFTER RECEIVING THE REQUEST.
Ronetta Audia
Depondent Printed Name
Rowtto Quedu Depondent Signature

The contractor has not procured material from, or subcontracted with, any person other than those set forth and

WARNING TO DEPONDENT: A PERSON WHO GIVES A FALSE SWORN STATEMENT WITH INTENT TO DEFRAUD IS SUBJECT TO CRIMINAL PENALTIES AS PROVIDED IN SECTION 110 OF THE CONSTRUCTION LIEN ACT, 1980 PA 497, MCL 570.1110.

Subscribed and sworn to before me this

GARY HEATH SAWYER
Notary Public, State of Michigan
County of Lenawee
ly Commission Expires 07:08-2020

owes no money for the improvement other than the sums set forth."

My Commission Expires 07:08-2020
Acting in the County of

Notary Public, Old Accounty, Michigan

My Commission Expires:

*Materials furnished by a contractor or a subcontractor out of his or her own inventory, and which has not been purchased specifically for the purpose of performing the contract, need not be listed.



My/our contract wi	th Air	IR CONCI	CEPE COU:	IT, INC. to	orovide
READY MIX	CONCRET	Ţ.	for the impro	ovement of the p	roperty
described as	2015	NOVI S	DEWALK	PATHWAY	PROTECT
having been fully plien rights against st					truction
If the improvement owner or lessee of Notice of Furnishin, the owner, lessee, ous, the owner, lesse us, either in writing	the property g from me/on or designee h e, or designe	or the owner ne or us or if I/ nas not receive te may not rely	's or lessee's ove are not requited this waiver of this waiver or upon it witho	designee has rec fired to provide o directly from mo ut contacting mo	eived a one, and e/one of
Signed on: 3-14	1-16	<u> </u>	(Signature of Lie	De Calmant)	
		Six	Lanne Ba Printed Name of I	iceval	to be a little of the second o
		Ar	ther ized	l Agent	and the second s
Company Name:	St PEVE	IOR MA	TERLALS	LLC	where the same state of the same of
Address: P	0 B0x	C 2900	FARMIN	GON HILL	<u>s m</u> 1
Telephone: <u>24</u>	<u> 8 -788-80</u>	<u>000, eu</u> ts	1406	4835	<i>j</i>



My/our contract with Audia Concrete Construction to provide (Prime Contracting Party)
Culernent making for the improvement of the property
described as 2015 Novi Pathway (Project Name)
having been fully paid and satisfied, by signing this waiver, all my/our construction lien rights against such property are hereby waived and released.
If the improvement is provided to property that is a residential structure and if the owner or lessee of the property or the owner's or lessee's designee has received. Notice of Furnishing from me/one or us or if I/we are not required to provide one, and the owner, lessee, or designee has not received this waiver directly from me/one of us, the owner, lessee, or designee may not rely upon it without contacting me/one of us, either in writing, by telephone, or personally, to verify that it is authentic.
Signed on: 8/14/16 With (Signature of Lien Claimant)
Kristen McDonald, Agent (Printed Name of Lien Claimant)
(Title of Lice Cisirrant)
Company Name: P.K. Contracting
Address: 1945 Barrett Troy MI
Telephone: 348.363.3630



My/our contract with Andia Concrete Contraction, Inc. to provide (Prime Contracting Party)
MDo7 21.4.4 for the improvement of the property
described as 2015 Novi Pathuray Goip (Project Name)
having been fully paid and satisfied, by signing this waiver, all my/our construction lien rights against such property are hereby waived and released.
If the improvement is provided to property that is a residential structure and if the owner or lessee of the property or the owner's or lessee's designee has received a Notice of Furnishing from me/one or us or if I/we are not required to provide one, and the owner, lessee, or designee has not received this waiver directly from me/one of us, the owner, lessee, or designee may not rely upon it without contacting me/one of us, either in writing, by telephone, or personally, to verify that it is authentic.
Signed on: 3/15/2016 Signature of Lien Claimmt)
Stars Foot P (Printed Name of Lien Claimant)
AC CKEALA (Title of Lien Claimant)
Company Name: Stanco of Michigan Address: 21,70 S. Zzzz et Ann Debox MI 4810 3
Telephone: (734) 587-26-01



My/our contract with Aus L	A CONCU	ete.	to provide
Concrete Work			
described as City of	Would (Project Name)	2015	Pathway
having been fully paid and satisfied lien rights against such property are	d, by signing this	waiver, all m	
If the improvement is provided to owner or lessee of the property or Notice of Furnishing from me/one of the owner, lessee, or designee has us, the owner, lessee, or designee mus, either in writing, by telephone, or Signed on: 12-3-15	the owner's or le r us or if I/we are r not received this v nay not rely upon i r personally, to ver	ssee's design not required to waiver direct it without co rify that it is	nee has received a to provide one, and ly from me/one of ntacting me/one of authentic.
	M. s. elaad (Printer		
	Pride	A ide of Lien Claime	int)
Company Name: all-ta	ale cort	Tarelog	
Company Name: <u>All-la</u> Address: <u>345-w-Ll</u>	but me	Y. In	4838/
Telephone: <u>3/3 999 19</u>		7	
C P. L. C			